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S forelt TEAel! § qHER e & $ gohel § 2 mL Hifsad TEgiaEe

foera fieTtent 38 T foRaT ST &, 1 81 aTel] Terfeh Affshar sl dfetd
TR GHIR & 9 | 39 YR foign ST Eehdl © - 1
(a) NaOH + Zn —» NaZnO, + H,O

(b) 2NaOH + Zn — Na,Zn0O, + H,

(c) 2NaOH + Zn — NaZnO, + H,

(d) 2NaOH + Zn — Na,Zn0O, + H,0O

freferfad | @ wer foriism (3rvered) sAfsifsrn g forew forisH o foe =i

T GId JehTeT 8 1

(a) 2FeSO4 — Fe O3+ SO, + SO;
(b) 2H,O0 — 2H,+ O,

(c) 2AgBr—>2Ag+Bn

(d) CaCO; — CaO + CO,
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(i)
(iii)

(tv)

(v)

(vi)

(vii)
(viii)

Select and write the most appropriate option out of the four options given for

each
1.

31/31/1/1 3 P.T.O.

This question paper comprises 39 questions. All questions are compulsory.
This question paper is divided into five sections — A, B, C, D and E.

Section A — Question Nos. 1 to 20 are multiple choice questions. Each
question carries 1 mark.

Section B — Question Nos. 21 to 26 are very short answer type questions.
Each question carries 2 marks. Answer to these questions should be in the
range of 30 to 50 words.

Section C — Question Nos. 27 to 33 are short answer type questions. Each
question carries 3 marks. Answer to these questions should in the range of

50 to 80 words.

Section D — Question Nos. 34 to 36 are long answer type questions. Each
question carries 5 marks. Answer to these questions should be in the range
of 80 to 120 words.

Section E — Question Nos. 37 to 39 are of 3 source-based/case-based units
of assessment carrying 4 marks each with sub-parts.

There is no overall choice. However, an internal choice has been provided
in some sections. Only one of the alternatives has to be attempted in such
questions.

SECTION - A

of the questions 1-20. There is no negative mark for the incorrect response.

When 2 mL of sodium hydroxide solution is added to few pieces of
granulated zinc in a test tube and then warmed, the reaction that occurs
can be written in the form of a balanced chemical equation as :

(a) NaOH + Zn — NaZnO, + H,0
(b) 2NaOH + Zn — Na,ZnO, + H,
(c) 2NaOH + Zn — NaZnO, + H,
(d) 2NaOH + Zn — Na,Zn0O, + H,O

Select from the following a decomposition reaction in which source of
energy for decomposition is light :

(a) 2FeSO4 — Fe,O3+ SO, + SO;5
(b) 2H,0 - 2H,+ O,

(c) 2AgBr—2Ag+Bn

(d) CaCO; — CaO + CO,
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(a) FeSO,
(b) CuSO,
(c) CaSOy
(d) Na,CO;
6. UIrTEm 3 fSeh & ATHTEE I €
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3. A metal and a non-metal that exists in liquid state at the room temperature
are respectively : 1
(a) Bromine and Mercury
(b) Mercury and lodine
(c) Mercury and Bromine
(d) Todine and Mercury

4. Carbon compounds :
(i) are good conductors of electricity.
(i1) are bad conductors of electricity.
(ii1) have strong forces of attraction between their molecules.
(iv) have weak forces of attraction between their molecules.
The correct statements are : 1
(a) (i) and (ii)
(b) (ii) and (iii)
(c) (ii) and (iv)
(d) (i) and (iii)

5. Consider the following compounds :
FeSO, ; CuSO, ; CaSO, ; Na,CO;
The compound having maximum number of water of crystallisation in its
crystalline form in one molecule is : 1
(a) FeSO,
(b) CuSO,
(c) CaSOy
(d) Na,CO;
6. Oxides of aluminium and zinc are : 1
(a) acidic
(b) basic
(c) amphoteric
(d) neutral
7.  MnO, + 4HCI - MnCl, + 2H,0 + Cl,
The reaction given above is a redox reaction because in this case : 1
(a) MnO, is oxidised and HCI is reduced.
(b) HCl is oxidised.
(c) MnO, is reduced.
(d) MnO, is reduced and HCl is oxidised.
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8.

10.

Consider the following statements :

(i) The sex of a child is determined by what it inherits from the mother.

(i1)) The sex of a child is determined by what it inherits from the father.

(iii) The probability of having a male child is more than that of a female
child.

(iv) The sex of a child is determined at the time of fertilisation when
male and female gametes fuse to form a zygote.

The correct statements are :

(a) (i) and (iii)

(b) (ii) and (iv)

(c) (iii) and (iv)

(d) (i), (iii) and (iv)

Chromosomes :

(i) carry hereditary information from parents to the next generation.

(i1) are thread like structures located inside the nucleus of an animal cell.
(iii) always exist in pairs in human reproductive cells.

(iv) are involved in the process of cell division.

The correct statements are :

(a) (i) and (ii)

(b) (iii) and (iv)

(c¢) (i), (ii) and (iv)

(d) (i) and (iv)

In a nerve cell, the site where the electrical impulse is converted into a
chemical signal is known as :

(a) Axon

(b) Dendrites

(c) Neuromuscular junction

(d) Cell body

31/31/1/1 7

P.T.O.



11. 1Y de &< BT & 9 -
(i) T FIATU] o AT HTATSTSITRATES i ATIIIRAT BId! & |
(il) TRTIT AT o AT HTATSTSITFATES 1 SATATIRAT 2] Bldl & |
(iii) GR IR A I STET AT ST 2
(iv) SR IR § et sfie’ =il Sirn 2|
30 Ufshan o Hel HRU 2/ -
(a) ha (i)
(b) (i) 3 i)
(¢) (i) 3 (iii)
(d) (i) 3 (iv)
12. forelt forrar ol fopelt St of@ o | feh g4 o T@im ST =fey difeh 0 W
forret o T ATES 1 Ufcfers I 2 7
(a) 8 ol BiehE gl <l I g 9 sferek g W)
(b) T % &I Blehd W
(c) i@ I Bisd g0 <l AT g W)
(d) T o TeRTIRTE s IR TET BIhd o o= |
13. HME 3 o1 H - TR foret renmer et U8 o wfdfers s @ o whed @
(a) AT (=3 HSA)

(b) vemT ufsrt
(c) o eI
(d) gfevea (e
14. feret el afiTforet & ofieR Scus Jreeh & 1 ded BT ©
/?\ \\%’?
—— 5=
(a) (b) (c) (d)

31/31/1/1 8



11.

12.

13.

14.

A stomata closes when :

(i) it needs carbon dioxide for photosynthesis.

(i1) it does not need carbon dioxide for photosynthesis.
(ii1) water flows out of the guard cells.

(iv) water flows into the guard cells.

The correct reason(s) in this process is/are :

(@ (i) only

(b) (i) and (iii)

(c) (ii) and (iii)

(d) (ii) and (iv)

At what distance from a convex lens should an object be placed to get an
image of the same size as that of the object on a screen ?

(a) Beyond twice the focal length of the lens.

(b) At the principal focus of the lens.

(c) Attwice the focal length of the lens.

(d) Between the optical centre of the lens and its principal focus.

The lens system of human eye forms an image on a light sensitive screen,
which is called as :

(a) Cornea

(b) Ciliary muscles

(c) Optic nerves

(d) Retina

The pattern of the magnetic field produced inside a current carrying
solenoid is :

y

YVVYVY

©)
/*\y

&
%)

(b)

~
(¢)
~
~
o
=

31/31/1/1 9

P.T.O.



15. F=faRad § @ 98 SRR s sg=n-e e feda aidt @ 1 sfia foqe
2
(a) &M, TR, IR
(b) WTfTTah, UTeUwtash, Bl Taelt, TE! TSl
(c) ™, ¥, 9, Heh
(d) fegr, am, o, dewh, oS (IFT)
16. = fou e forg Sffa 1 orcifies s ot oty sgevea @ 7
(a) e
(b) <L
(c) iR
(d) wisHITeTH
TR HEAT 17 | 20 H 31 FHAA- Th AFHRST (A) 3N T80T &R0 (R) foarm man 2
T o IW AR T TTRE (a), (b), () R (d) # T T ST -
(a) AR (A) R FHRI (R) SHT T& & 3R &R0 (R), ANTHA (A) Fl Tl
ST LT 2|
(b) AR (A) TR FR (R) IHT Tl &, Tohg R (R) 3Tf¥ered (A) it @&l
ST T2} T B |
(c) 3AHA (A) HaI B, Wg HRUT (R) T 7
(d) 3TfiReA (A) e 7, fohg sROT (R) w1t 21

17. 3TfeReA (A) : o9 ST T3fesh ot & AfIfshan iar & 1 s3gie T e

Freperdt B
WROT(R):  T3fh 3Tl Afufshan  Icuat eggioe | ol SU=Ifid hieh
T ST R 3R T AU & S R
18. AR (A) : ThElt SAER @1 & I=ay It T & Siai # gTiHe Wl
T GIE {2

HROUT(R): Al bl U 3R digehi & a9 o 7w 39 W e et
&1 fesgena foram St R)

31/31/1/1 10



15. Identify the food chain in which the organisms of the second trophic level
are missing : 1
(a) Grass, goat, lion
(b) Zooplankton, Phytoplankton, small fish, large fish
(c) Tiger, grass, snake, frog
(d) Grasshopper, grass, snake, frog, eagle

16. In which of the following organisms, multiple fission is a means of
asexual reproduction ? 1
(a) Yeast
(b) Leishmania
(c) Paramoecium
(d) Plasmodium

For Q. Nos. 17 to 20, two statements are given — One labelled as Assertion (A) and

the other labelled as Reason (R). Select the correct answer to these questions from the

codes (a), (b), (c) and (d) as given below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : Hydrogen gas is not evolved when zinc reacts with nitric
acid.

Reason (R) :  Nitric acid oxidises the hydrogen gas produced to water
and itself gets reduced. 1

18. Assertion (A) : Accumulation of harmful chemicals is maximum in the
organisms at the highest trophic level of a food chain.

Reason (R):  Harmful chemicals are sprayed on the crops to protect
them from diseases and pests. 1

31/31/1/1 11 P.T.O.



19.

20.

21.

22,

23.

24.

25.
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19.

20.

21.

22,

23.

24.

25.

Assertion (A) : The rate of breathing in aquatic organisms is much faster
than in terrestrial organisms.

Reason (R):  The amount of oxygen dissolved in water is very high as
compared to the amount of oxygen in air.

Assertion (A) : The rainbow is a natural spectrum of sunlight in the sky.

Reason (R):  Rainbow is formed in the sky when the sun is overhead
and water droplets are also present in air.

SECTION -B

Name the type of chemical reaction in which calcium oxide reacts with
water. Justify your answer by giving balanced chemical equation for the
chemical reaction.

State one role of each of the following in human digestive system :
(i) Hydrochloric acid

(i) Villi

(ii1) Anal Sphincter

(iv) Lipase

(A) How is the movement of leaves of a sensitive plant different from the
downward movement of the roots ?
OR
(B) There is a hormone which regulates carbohydrate, protein and fat
metabolism in our body. Name the hormone and the gland which
secretes it. Why is it important for us to have iodised salt in our diet?

An object is placed at a distance of 10 cm from a convex mirror of focal
length 15 cm. Find the position of the image formed by the mirror.

(A) Show how you would connect three resistors each of resistance 6 €,
so that the combination has a resistance of 9 Q. Also justify your
answer.

31/31/1/1 13
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27.

28.
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26.

27.

28.

29.

OR
(B) In the given circuit calculate the power consumed in watts in the

resistor of 2 Q :
1Q 20

HHHH —————
6V

(i) Two magnetic field lines do not intersect each other. Why ?

(i) How is a uniform magnetic field in a given region represented ?
Draw a diagram in support of your answer.

SECTION -C

Write one chemical equation each for the chemical reaction in which the
following have taken place :

(i) Change in colour

(ii) Change in temperature

(iii) Formation of precipitate

Mention colour change/temperature change (rise/fall)/compound
precipitated along with equation.

(i) The pH of a sample of tomato juice is 4.6. How is this juice likely to
be in taste ? Give reason to justify your answer.

(i1)) How do we differentiate between a strong acid and a weak base in
terms of ion-formation in aqueous solutions ?

(iii) The acid rain can make the survival of aquatic animals difficult.
How ?

(i) Why is respiratory pigment needed in multicellular organisms with
large body size ?

(i1)) Give reasons for the following :
(a) Rings of cartilage are present in the throat.
(b) Lungs always contain a residual volume of air.

(c) The diaphragm flattens and ribs are lifted up when we breathe
in.

(d) Walls of alveoli contain an extensive network of blood vessels.

31/31/1/1 15
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30. Define reflex action. With the help of a flow chart show the path of a
reflex action such as sneezing.

31. Study the diagram given below and answer the questions that follow :

(@

(ii)
(iii)

Name the defect of vision represented in the diagram. Give reason
for your answer.

List two causes of this defect.

With the help of a diagram show how this defect of vision is
corrected.

32. Name and state the rule to determine the direction of a :

(i)

(ii)

33. (A)

(B)

31/31/1/1

magnetic field produced around a current carrying straight
conductor.

force experienced by a current carrying straight conductor placed in
a magnetic field which is perpendicular to it.

Plants — Deer — Lion

In the given food chain, what will be the impact of removing all the
organisms of second trophic level on the first and third trophic level?
Will the impact be the same for the organisms of the third trophic
level in the above food chain if they were present in a food web?
Justify.

OR

A gas ‘X’ which is a deadly poison is found at the higher levels of
atmosphere and performs an essential function.

Name the gas and write the function performed by this gas in the
atmosphere. Which chemical is linked to the decrease in the level of
this gas? What measures have been taken by an international
organization to check the depletion of the layer containing this gas?

17
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(B)

35. (A)

(B)

31/31/1/1

(ii)
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3G HIeH oh ARk <X 1 AW R GG ey [Ees =10 |
HTe T © ST fores T o1ged “—ol” I 2
T 21T & S X T TR A5 ToRIeh 30 o T 443K W
TH R ST 87 @i e Sl i aWd gY SAMIRAT
T e wHieRor frfia qe s stfwfsen | |ig dowqftn 3t
JfHenT o 3g@ Ht iR

(i) ITIE ANITHAT | T Tt BTZSIRIa T A9 TR 3T IR -

(1)

(ii)

)

(ii)

foreg wt=T fetflam
qE HIETSAT & TR i Uk o oI IUT &t I 9Tt &
Tertehl /gfwal o AW fRaw| Sy & fawia w1 3g@
FHifs|
FAT B AfS fohelt A AT | (a) Frv=m BT R, (b) 310 @ fAn=m
Tigae ?

CPC]
eI | Sfi STy GHTE i 3T Gieeht SRise qoT 39 AH i
TIfRA T (a) ST ST & 91T & 3T (b) ST S & 917 &t 2
TSSO I T & gohe W fahfirg i i =i € 7
39 fafer o1 M 3 saTE Hifsr e g eser S it R
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SECTION -D

34. (A) (i) Define a homologous series of carbon compounds.

(B)

35. (A)

(B)

31/31/1/1

(i)

(iii)

(iv)

)

(ii)

(iii)

@

(ii)

)

(ii)

Why is the melting and boiling points of C4Hg higher than that
of CsHg or C,Hy ?

Why do we NOT see any gradation in chemical properties of a
homologous series compounds ?

Write the name and structures of (i) aldehyde and (ii) ketone
with molecular form C;HgO.

OR
Write the name and structure of an organic compound ‘X’
having two carbon atoms in its molecule and its name is
suffixed with ‘—ol’.
What happens when ‘X’ is heated with excess concentrated
sulphuric acid at 443 K? Write chemical equation for the
reaction stating the conditions for the reaction. Also state the
role played by concentrated sulphuric acid in the reaction.
Name and draw the electron dot structure of hydrocarbon
produced in the above reaction.

Name three techniques/devices used by human females to avoid
pregnancy. Mention the side effects caused by each.

What will happen if in a human female (a) fertilisation takes
place, (b) an egg is not fertilised ?

OR
Draw a diagram showing spore formation in Rhizopus and label
the (a) reproductive and (b) non-reproductive parts. Why does
Rhizopus not multiply on a dry slice of bread ?
Name and explain the process by which reproduction takes
place in Hydra.
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36. (A) (i) Toga wifd it aitamn fafae) @ favearr (V) o af/lig (R) &

(B)

(ii)

(1)

(ii)

UGl H =<k Shifery |
Toreft forera WSt St SThe AT 3/ 220 V o6 H1 W &R i o g
# R R TR a5 u H 11 Ife fagd Fo 3w w2
WW:
(a) WS o1 IR —-3TIHATH
(b) g E &t S At fagga am
(c) WEt o Ufodly STel 98 el awd @

aterat
Toret SRR e ffoivet Seh! @vrg [ qem ST e
%A A 2, % Uiy R 3R 30 werd it Se@ gferieskdr p &
= "oy ffau| 38 YR 9T[ figshal &1 SI A6 o
EAIEI
3 m g AR 4x107 m® T FIE FARA o fohd] AR A1
TfeRIE 60 Q 7| 38 IR 1 ATd TTrerehdT THehictd shitsTy |

(iii) e 3| TR (VAT “ii*) T CieeRt gush! T ST o < STl

AT A UfcRiehar fohe TR wfad g7 o IR A g
e

QuEg -3

T9T EEAT 37-39 EId—3MTTRA /TR0 —3Temid TeT & ek & @ 9 3

a8, T8 9 ek 3T 9T H AT e o Tee feRar e @

37. 3rqeH Y fafim wfswmeneti g Icaw anqe sga Y@ 76wt §1 T et
=l 8| Y8 o1qU 9T T ok FoI¢ 37 1y i g fohan S 1 g ol
& U ! el 3T Sefera fafy feorega stomre aftswwor 7
() 39 IfhaT gRT TR & afshton & fore Fhee 3 WS foheh o4 =id 27
(ii) SURITR JfRAT H TN foRT ST aTet farere st T TR 38R ¥ fafau)
(iil) (A) T 38 foRqa 7wt Ot § fowpa umy yanfea & St € qf a0

CshTuT fore SRR BT STTaT 27
1T

(iii) (B) 39 9@ a1 Al ‘A’ W ‘B’ H B Towhe faerq W B Afe

31/31/1/1

39 et <A° | forr ) it oTR et B’ # e R wfi gan d i
SIS &1 5= o U AT T J&T0T R | Tedieh JehuT o J&T0T <hi

ERUkISI
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36. (A) (i) Define electric power. Express it in terms of potential 5
difference (V) and resistance (R).

(i1)) An electric oven is designed to work on the mains voltage of
220 V. This oven consumes 11 units of electrical energy in
5 hours. Calculate :

(a) power rating of the oven
(b) current drawn by the oven
(c) resistance of the oven when it is red hot
OR
(B) (i) Write the relation between resistance R and electrical 5
resistivity p of the material of a conductor in the shape of
cylinder of length / and area of cross-section A. Hence derive
the SI unit of electrical resistivity.

(i1)) The resistance of a metal wire of length 3 m is 60 Q. If the area
of cross-section of the wire is 4x107 mz, calculate the electrical
resistivity of the wire.

(iii) State how would electrical resistivity be affected if the wire (of
part ‘ii’) is stretched so that its length is doubled. Justify your
answer.

SECTION - E

Q. Nos. 37-39 are source-based/case-based questions with 2 to 3 short sub-
parts. Internal choice is provided in one of these sub-parts :

37. The metals produced by various reduction processes are not very pure.
They contain impurities, which must be removed to obtain pure metals.
The most widely used method for refining impure metals is electrolytic

refining.
(i) What is the cathode and anode made of in the refining of copper by
this process ? 1
(ii) Name the solution used in the above process and write its formula. 1
(ii1)) (A) How copper gets refined when electric current is passed in the
electrolytic cell ? 2
OR

(ii1)) (B) You have two beakers ‘A’ and ‘B’ containing copper sulphate
solution. What would you observe after about 2 hours if you dip
a strip of zinc in beaker ‘A’ and a strip of silver in beaker ‘B’?
Give reason for your observations in each case. 2
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38. Hed 4 W o fa@Ts oF ATel s foiell A&l oh1 3TN ohleh AT RIS o6

39.

TR X R foRaT| 3eRIH WeX o Wil o Ueh 1T 31 fauatet AeAvni o Wi
T HHTUT FHAHL 3 T fohT | 37T YeJ0Tf o YR T I FS AT, hi
fSrrai= HATafrera i forarfaer s STesRM H Heriar |
(i) & Hed A F, Hafd I i o I 7eX o I[E AX 3R I[E S AeAvi
At Nl o S GRor HIRT A F, Tt & Gl § 3rai g 31 Yequr
fepu?
(i) STl I STITE &l o site Uk 3= fafau)
(i) (A) Torotel Seguni < a1 i o forell Hahor §
RRYY X  rryy
(M) (Fher R)
Ted 3 F, Gafd § 4 YR & AWM o1 Y& Tomam)| fore fafer gmo
32 F, Hafd o 99 I fohT 97 9Tt ek AN]SR ST
fafan qen eora hifsr for 30 wom & s fsend ekt 21
AYAT
(iii) (B) 39 % 1 gfE hIfT -
“‘org Tug ® foR IS AeTUT I AT B ST Weg o5k 7 & )

o feu U 3ttt @ stemEe ifse | dF STadd g9 A, B 3R C
HIhE gL AT 39k AT Feurq foreat ot |t gt At ©
TRIOT | ggur TRl g (em) | forE-gh (em)

1 A 20 45
2 B 15 30
3 C 30 20

() SWIRE YR 0 4 fohed gdur grr o fdafers a1 oest fora & @1ge @
BT MY 379 I i gfE hifsu|
(i) SeRTOT 2 ® o Wfciferal o6 1 7un A1 = SETET
(i) (A) YT C g &4 Afcifera it TR 3T 15t T 27 310 I At I
% foru fertor sm@ difem)
T
(iii) (B) IS forval 12 cm Ieh® g o Haded TUUT o g € 18 cm 31 g W
oo 21 3 vt | wfafersr st fefa sma $ifso)
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38.

39.

Mendel worked out the rules of heredity by working on garden pea using
a number of visible contrasting characters. He conducted several
experiments by making a cross with one or two pairs of contrasting
characters of pea plant. On the basis of his observations he gave some
interpretations which helped to study the mechanism of inheritance.

(i) When Mendel crossed pea plants with pure tall and pure short
characteristics to produce F; progeny, which two observations were
made by him in F; plants?

(i1) Write one difference between dominant and recessive trait.

(iii)) (A) In a cross with two pairs of contrasting characters

RRYY X ryy
(Round Yellow) (Wrinkled Green)

Mendel observed 4 types of combinations in F, generation. By
which method did he obtain F, generation ? Write the ratio of
the parental combinations obtained and what conclusions were
drawn from this experiment.
OR
(iii)) (B) Justify the statement :
“It is possible that a trait is inherited but may not be expressed.”

Study the data given below showing the focal length of three concave
mirrors A, B and C and the respective distances of objects placed in front
of the mirrors :

Case | Mirror | Focal Length (cm) | Object Distance (cm)
1 A 20 45
2 B 15 30
3 C 30 20

(i) In which one of the above cases the mirror will form a diminished
image of the object ? Justify your answer.

(i1)) List two properties of the image formed in case 2.

(ii1)) (A) What is the nature and size of the image formed by mirror C ?
Draw ray diagram to justify your answer.

OR

(iii) (B) An object is placed at a distance of 18 cm from the pole of a
concave mirror of focal length 12 cm. Find the position of the
image formed in this case.
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